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Focal Points and Distance without Using
Trigonometry
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Abstract: This paper addresses the mathematical equations of Conics and Quadric Surfaces that we can obtain by using two points
and distances, using these three are sufficient to specify a rotated Conics and Quadric Surfaces of any shape and orientation without
using Trigonometry, This paper has five different equations, which make different geometric shapes in both of Three-Dimensional
Coordinate System and Two -Dimensional Coordinate System.
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1. Introduction These three are sufficient to describe a Conics and Quadric
Surfaces of any shape and orientation.

By this functions one can plot the Conics and Quadric

Surfaces using any two focal points and a distance, and the

rotation of comics is entirely dependent on its focal points

Now let I{x3;.27) is an Imaginary point and C{x,y. 2z} is
any point on locus. A point I are the set of points equidistant
from one of the focal point of conics.

This function takes two focal points and a distance: ) ) i .
D is the sum of the distances of focal points from any point

A = {xp.v. 2p) First focal point. on locus
E = {x,.v.. 2] Second focal point. D=AC + EC
D is a sum of distances of BC and AC if C is any points C
on locus.
5
4
-9 -8 -7 -6 3

-3

I{x: 9. 27) Is a point such that it’s collinear with point A Since we will use point Iz ;. z;), let find point J{zx ;. ;. =;)
and C and distance of point BC is same as IC, as in figure

[imagel] shown. We know line Al that passes through the points
EC=(1 Alxgp.2p), Clxowz) and I{xpyw.z) all point are
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collinear, since  the  expressions  are linear.
We can use parametric form of line to find I'{x;. . 2;) ,we

know that t runs from —c= to ==, a parametric form gives
control over the length of the line, not only the line direction

and the distance between initial point A (xg.%.25) and point
C(x,v z) is proportional to parameter t. we can find
I{x ;9. 27)using parameter t
;= x HE(x—xy)
¥ =y Hty =)
;= z+ t(z — )
Because I{x;.%;. 2;) is collinear with point A{x .. 2} and
C{x,wz)and IC = EC,
And because

IC EBC

AC  AC

by dividing BC with AC we get t

w| -

_ (- D'+ -0+ -
(x —x)* + (y — 30 ) +(2—2n]]

(Xp Vil =(x +tix —xp), v+ ey — ¥phZ + (2 — Zg))

Now we have | (xi,yi,zi) A( x4, ¥, Z5) and C(x, ¥, z)
all points are co-linear

AC+CI =4l
We already have a point A{xg.¥.Zy) and E(x;.¥%;.2;) and
D whereas £ (x, . 2} is any point on locus
Now we have to find I = AC + EC and
D=AC+ I
D=Al
Distance between A{xg.¥y.2p) and f{xu¥.z) is D

D = Alit satisfies the condition required to get all locus
points.

Now distance of Al is.

D = /(xo— %) + (% + %)* + (20 — 2)°

i~ n — y y = .
D= (xp-x— tx— xp ) )™+ (Vb y=-t{v— vl )" HEp-2-t(2-Z5))

(xo—x—t x=x0)) + (o +y—t (r=30))’
+(zg—z—t(z—z,)) =D?

Expanded

—2xpx — 4xu.t x+ Et x +tx? — 2xgtx +x° +xc,
+2x t +x32 ot — 2¥a¥ —4}ﬁt v
+2t } 24 ty? — 2yptv + v° +}D
+ 2}[,, t" + }D — 222 — 4zur z
L 26322 4122 2zptz + 2% + z;
+ Zzét%+z§t =D?

x:ﬂ— 2xgx + x5+ y2 — 2vey+ v + 28— 2252

+zg5+ tx® — 2xptx + x§t+ ty? — 2}-‘Dt}-‘ + }-‘S

+tz- — 2zptz +th+ Zt x- — 4x[,t x+ qu,t"

+2tz2 }-—4}Dt ¥ +2}Dt + 2tz z-—4zut z

+22I}t" =D?

Took t common

i
(= 2xox+x3 497 = 230y + 98 +2° — 2202 +20)7 +
1

(x?—2xyx+xi+ 97

Replacing t with its value

(x*— Zxgx +x, +¥° —Zyay 35 +5° —2n,o+ 53)

+|x —2xxt+al oy — 2yt 5 —2:1"+_1}
(x? —Zxgx +a; + 55 —2p,pt+ 35 +5f — 2o+ }

—2xgx x5 +¥° —Zve¥ ¥ +5 — 255 t+55)

1
2 (x" —2xx+x 4y —2y,y+y +2° —252+45 }ELI__

(x%— Zxgx + x5 + 9% — 2yt +2F — 2zt e
—2xgx +ai ¥ — 2wyt t5f —2ns sl =DF

After simplification

(x" = 2xpxr+ x5 +v =20 v+ 5 +27 — 25,2

+z)+ 20" -2y x b iyt -2y y b+

":l - - - -

— 2z + ) - Zrpx b ag YT - 2wy + g
1

+z8 =27z + 25 )T 4 (xF —2xx + xT +yF

—Zypyty +z° -2z +z7) = D°

And.
a1
((x” —2xpx +.rn. + 1: — Zypy +1 1: +zi— 2Zpz+ EpT 4+

. -
(x° - 2xx+ .rL +yi— 2y + Vi+zt— 2z z+ )T =0"
Then we have

.l
(X" —Z2xpr +xg + ¥V — 2¥pV+ ¥y + 27 -2+ )T +

o 1

(x-—Z2Zmx+xr+y —2yyy+y +2-—252+E200T =D

Let assume similar equation is in form

Let remove fraction points from

| -
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—2c'h —2ba + B* + e + 2c%a + &f

i o=

b=c¢'—2caz4+a 4t
1 cl—b+a al —2ba +b* —2c?a—2cb + ¥ =0
a::—
2c

Expand everything we got.

—dxix+ 2xivi —4xiwy +7x[,z[,—‘1-x[,z[,z+ Gxix® + 2x3y° + 2xiz” —‘]:'I[:._‘JDI-I-EID_‘JDIJ —‘l-x[,z[,x+8xnz[,xz
— dapx® — dwpuy® — dupaz’ +Jn_‘1'JDJ+7JDZD_‘1'JDZDZ+7JD-T +'5JDJ +2y5z2° _‘I‘annj
+ Bypzpve — 4-3[,3:)—‘1-_][,) —4-3[,_'32 +z[,—‘1-z[,z+7'z[,x + 2z5y" + 62527 —4zpxtz — 4z, vz
—dzpz bt 2yt 2Tzt oyt 292t 2t - 2aial + dxix,x — 2x3y) + 4xivy — 2xizf
+ ‘l-x;zlz — T’x;x" — 2x3yT — 2x3z% +4xpaix— Bxpx,xT + dxpyix— Sxpyxy + 4xpzix — Bxpzxz
+4apx® + dxgay® + dwpxz® — 2ygx] +4ygax— 2y5yi + dyg iy — 2ygEi Hdyizz — 2ypx”
— 255 y* — 2y527 + 4y xiy —8ypxuxy + 4yoyiy — 83y + 43ziy — 8ypziyz H4xxty + 4wy’
-I—‘l-_j[,_jz —7znxj_+=1-znxlx—7znj]_ +=1-sz1__') 7znzl+=}znzlz—7znx —72[,_5 —?'zDZ'
-I—‘l-z[,xj_z Ez[,xj_xz-l—f}znjlz Eznjl_jz+=1-znsz—EzDsz +=1-sz z-l—‘l-z[:._j z+=1-z[:.z —7xf:r:
— 2xiy® — 2xiz" + 4x,x® + 4xpxy” + dxyxz” - 2p0aT - 2yfy” —7:uz + 4y, 27y + 4y ¥
+‘1-_jj__jz —7zj_x —721__'3'—?'2]_2 +‘1-zj_:r z4 4=y z+‘1-zj_z — 2x4 —=1-x_j'—‘1-:c 2."—7_j
— 4y gt — 224 +:.c —=1-xj_:r+2xj__jj_ =1-xl_jl_j+2xj_zj_ 4-xj_zj_z+ﬁxlx +2:rj__j +2x]_z
— 4y, yix+ 8,y xy — 4-xj_z£x+ Bx =z vz — 4w, x® — dx wyT — 4-1'1_::2" + j]_ —4yiy + 2y=t
—4yizyz + 2yfx" + 6yfy® + 2yiz" — 4y =y +E-leuz—4hr y — 4y y* —4JLJZ"+2L—+ZLZ
+7z]_x +7ZLJ +ﬁz]_z —=1-z]_x z—*l-zj_j z—4-zz +x* +?'xj + 2x°z° -I-j +7_j “z© +z
—EIDD +4-xDD .‘r—szD -I-‘l'jDD ¥ —2ZDD + 4z, D" fz—2D%x* - 2D° j'—ED iz 2D* xL
+4D%x,x— 207y + 4Dy, y — 2D7z] + 4072,z — 2D x — 2Dyt —2DFzT + D4 =0

After simplifying equations we got our final result for Quadric Surfaces
4x7((p — %) = D) +4¥* (0 —¥)* - D) + 427 ((zp — 2, - D) +
By rg — My — ) + Brezlag — 2 Mzy — 2,0 4 8Byz(yp — w)(zp — 2,0 +
dx((xg—xy Mx1+y0 +2f —xp— ¥y —Zp) +x D7+ x, D7) +
W —ydEi+Hyi i —xp -y — )+ DT+ D)+
42{{2[,"— 21.]"':-"-’1'. + Ly + 21 - -"-’i:c"— Yo - 26]_"‘ zn?' +"21.D'] +
gty +zp)xotys +zp— D" —xy -y —z0)—
D (xg+yy +25 — D" +xp+ ¥ +2{) -
(ri+yf +z))(xg+y5 +25 +D° —xi—yf —z{) =0
This above equation takes two points as foci’s and distance.
It results different in different cases.

Sphere
Equation results circle when the distance between focal points is zero.

Point A = E

I = 2 twice of radius
D =AC + BC

Prolate Ellipsoid

Equation results prolate Ellipsoid when the distance between focal points is less than the sum of the distances of both focal
points from any point on the curve.

A=E

AC and BC always positive

Hyperboloid of two sheet

Equation results Hyperboloid of two sheet when the distance between focal points is greater than the sum of the distances of
both focal points from any point on the curve.

A#B

Either one of AC or BC will be negative, the other will be greater than D, so that sum of both equal to D.
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Line

Equation results line when the distance between focal points is equals to D.

A=E

D =AC + BC

This only happens when the distance between focal points is equals to sum of the distances.

Similarly for two dimensional
By using similar method we get equation for two dimensional is.

D= ‘n"ll':xl}_xl']: + (0 +3)*

Because I (x;, ¥;,Z; ) is collinear with point 4(x;.Yy. %) and C(x.v.z) and IC = BC, by dividing BC with AC we get t
. .1
- (Gre—2)" + 00 —y))2
- 1
((x—x0)* + (v — 0 )*)

D=q(xo—x—t(x—xp))* + (o + ¥ — t(y —3%))?

After expanding
1

L
—2xpx —dxotZx 4 262x% 4 £t — D pbx 4 x©
) 1

+ x5 + 2x5t2 + x5t — 20y — 4yptly

1 1
+2t2y7 + ty® = 2ypty + ¥7 g + 252
+ypt=1D"

Arranged in way so that we can get t common
xt - Zxpx + xé + },: — 2y + }fn.: +tx® — gty + xér +
- - 17 A 1 n I =
Ly~ —2ypty+ ¥t + 2tox” —daptsx+ gt -+ 20y —

L 2 1 2
dyptzyv+ Zypts =D

Took t common
{x: — 2xapr + xé + },: — 2ypy + j.f,;"j + t{x: — Zxpx +x§ +

- - 1 - - - -

Vo= 2ypy 4 ye) 4 2t(xT — 2xpx 4+ xp + V7 — 2yl + ) =

pZ

Replacing t with its value

'f'f—": —2xpx + 15 s }’: = 2ygy + }'[:? ]
T—Z2nx+xi+y —2WyV A+ ¥ - - -
[.. L Lo SL ‘L..:{x'—Z:cDx+:c5+}"

(7 — Zxgx + x5 + 17 — 2V + ¥ )

. . . !
(x- —2nx +x; +y- -2y y+ e 2

— 2ypy + V) + 2 —— =
. LT = Zapr +ag + vT =21V + 1)
—Zxpx +xp F¥ T —Lypy+ gl =07
When simplified.

AT — g+ xg + VT — 2V + Vg + 2(xT — 2xx +xf +

ot T Xp + ) Yo + ¥o) 1 1

- 1 n - - n 1
Yoo 2y VR - 2+ ag + ¥ — 2ypV V)it
(x"—2xx+xy+y —2yy+yr) =D

Again

2 2 2 2.1
(= —2xpr+xg + ¥ — 2wy + I+

. . . . 1
(x"—2Zrx+xy +y -2y y+ywiE=D

By using point and after simplifying equations we got our final result for two dimension.

e ((xp— ) =D+ 4 (0 — ) - D)+
8= x = y(xg—x )0y — ¥ ) + 4 (g — x )(xi +97 — x5 —35) + 2D+ x, D) +
4y((vp —w )i+ 9 =2 =) + 3 D7+ DY +
(x3 + 993+ 9 — D —xf —9]) —D*(xi + 3¢ — D+ xi +3)
—EI YD + D —xi -y =0
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Circle
Equation results circle when the distance between focal points is zero.

Point4A = B

D = 2 twice of radius
D =AC + BC

Ellipse
Equation results ellipse when the distance between focal points is less than the sum of the distances of both focal points from
any point on the curve.

A=E
AC and BC always positive

Hyperbola
Equation results hyperbola when the distance between focal points is greater than the sum of the distances of both focal
points from any point on the curve.
A=E
D=AC + EC
Either one of AC or BC will be negative, the other will be greater than D, so that sum of both equal to D.

Line
Equation results line when the distance between focal points is equals to sum of the distances of both focal points from any
point on the line.

A%E

0D =AC + BC

This only happens when the distance between focal points is equals to sum of the distances so we can find new equation that
gives equation of line all time

1
We know, if D is get replaced with distance D = {[xy — x,)* + (3% — 3 )% + (zp — =;)%) calculated formula always return
line.

i
D={{xy—x "+ 00 — %)+ (2, — 2,)°)2
Replacing D in equation to find equation of line.
By expanding and simplifying the equation we got equation of line.

-r:':_':}’n - .‘}’1]: — (= — zlj::] +

}’:{_{xn - -1'1:]: —(zo - 21]:] +

2 (—(xp—x ) — (o — ¥+

2exsy(xo—x )00 — W)t 2xx*z(xg—x Wz —2) + 2=y =2(0 — W) E —2) +
2x(xp( (v — M)+ 2105 —2)) + .00 — W) +5p(E30 — 2000 +
2y (v (xplxe —x1) + Zp(Zo — 2 ) + 3 (2 (3 —xp) + 24(z —2) ) +
2z(zy(xo(xp—x ) + %00 — M) F 5 (x —x )+ — W) +
xo(@ypxn — ID{_}-‘E +zf N +yv@znz— 2 ':-’-'i + zf:]:] + zp(2xpx, 3 — zn{xi + }’1:]:] =0

Cylinder

Equation results Cylinder when we add some constant in equation of line, let constant is C.
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-r:':_':}"n- - .‘}’1:]: — (= — 21:]::] +

}’:{_{xn - xl:]: —(zo - 21:]:] +

2 (—(xp— %) — (o -y +

2exxy(xo—x )0 — M)t 2xx=z(xg—ay ) — )+ 2=y =2y — ) (Z —z) +
2x(xp( Op — M) + 2105 —2)) + 20000 — W) + 2p(z0 — )00 +
2y (v (xolxe — 20+ Zp(zp — 2 )) + W (2 (3 —xp) + 2,(z — 2000 +
2z(z(xp(xp—x ) + 3 o — W) F 25 (x(x —x) + 00 —¥) ) +
xo(2ypry vy — 2 (yi +280) + W Rz — yp(xf + 280 +
Zp(2xgxy2zy — zn{xi + }’L::I:l +C0=10

After some observation we found, putting (. ¥.z}in Equation at any surrounding coordinates of line result some value,
which is equals to multiplication of square of distance between focal points and square of minimum distance from equation of
line that is.

€=((xo— .rj_]: + (% _.‘J’L]: + (= _ZL]:]’":
Replacing C in equation result equation of Cylinder.

x:{_{}’n - J’lj: —(zo - zl:]::] +
¥i—(xp— ) — (5o —z,)") +
z:{—{xD - -1'1:]: — (- .‘}’1:]::] +
Zexey(xp—x)Wp W)+ 2ex ez —x )Em ) 2=y 20 — W) E —2) +
2x (g O — M) + 2102 —2)) + 2,000 —») + 20(z — 2000 +
2y (yy (xolxg — x4 )+ 2p(Zp — 21)) + Mo (x 1 (xy —xp) + 23 (2 —2))) +
2z(zy (xp(xp — x ) + 3 (o — 1)) + Zp(x(xy — xp) + 70 —¥) ) +
xo(2ypxy ¥y — 2 (¥ +28)) + ve Rzpyezy — Yo (xi +2)) +
Zp(2xpx,2; — zn'i-rf + }’1.::]:] + ((xp— _r,_j: + (% - .‘}’1]: + (2 — 31:]::]'-'": =

Where r is radius of Cylinder.

Elliptic Cone
In equation we can add constant to see its behavior

As we increase C the equation starts to take the shape of a Elliptic Cone, and as we increase it further, this equation takes the

shape of a Hyperboloid of one sheet, So now we know that by taking K up to a point, the equation takes the shape of a cone,
So now we will find out what that will be the equation has to pass through midpoint of both focal points to form a cone.

Mid-points are.

(xg+ x1)
x:—

2
o (3 +¥)
y= 3
L= (zp +2,)
2

General form of equation is.
Ax? 4+ By 4+ Cz2 + Dxy + Exz + Fyz + Gx + Hy+ Iz + K =10
K—=Ax*+ By * +Cz* + Dxy + Exz + Fyz + Gx + Hy + Iz

[Eg+24)

Since the cone will pass through the midpoint of the two focus points, we can replace X, y, z with L fxij,':}.":-}.ﬂ
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. (xn ‘: 1’1]‘ (Crg— x, 0% — d2) +
‘*(}b J;yl]: (o —m)*—dd +
4(20 1_21 : ((zg —z)* —di)+
a. (:.cn ;‘ xl] . (}’n ;‘}’L] (g — x)0 — y2) +
g, (xn 1—:1) , (zn 1—21] (g — %)z — 2,) +
8x (202) 1 (B2 2) 6 - 50y -2 +
4(1'9:351] (g —x a2+ v2 + 22 —x2 — % —28) + xpdl + x,d2) +
(B2 (G =363 +32 + 2 = x g — ) + 302 £ ) +
4(29 1—21) ((zg—z )2+ v2 + 22 —x2— v —28) + zpdi 4 z,d?) = —K

By expanding and simplifying the equation, K is.

K=l 422 +yD0GE—x2 4y 428 —2f —y2 +dD) +
(ef +yg +28)af 2T+ 98 + 28 —2f —yf —di) -
di Crgxy + Vo ¥y + Zp2y + X%y + Vo ¥y + Zp2y)

4x?((rp —x,)" = di) + o (O — ) —dD) + 427 (7 —2)* —dD) +
Brxsxy(xo—x )00 — W)+ 8xxwz(xg—xy)(zp — 5} + 8=y =+ 20 — ) (2o — ) +
4x((xg — x )l + ¥f + 2§ —x§ — 3§ —z8) + xod] + x,df) +
4y (o —y )L+ 98 +2f — x5 — 3 —z5) + wdi +;mdi) +
4z((zp — 2 )(ri+ 98 +2f — x5 — 9 —z) + ndi + 2, dI)+ K =0

If we compare with the general equation and change from the K found in the equation, then we get an equation, it will always
be a cone equation.

4x?((xg — x,)° — dD) + 42 (Oh — 1) — dF) + 427((z — 2,)* —d) +
Brxsxy(xo—x )00 — W)+ 8xxwz(xg—xy)(zp — 5} + 8=y =+ 20 — ) (2o — ) +
4x((xg — x )l + 38 + 2§ —x§ — 3§ —z8) + xod] + x,di) +
4y (v — @I+ vl +zi —xf -y —zd) +wdl + ndi) +
42((2p — 2 )(x{ +¥{ +z{ — x5 — ¥ —25) +zpdi + z,d]) -

(e +zi + 900 —xi+yg +25 —zi -y +di) +
(ef +3d +28)(xd —xf +y§ +28 —zf —yf —dl) -
di(xpxy + Yoy + 207 + xpx + Wy +77) = 0

Hyperboloid of one sheet
In equation if constant is greater than the equation do not generate Hyperboloid of one sheet but it do when we add some
constant in equation.

Suppose Ax?+ By® + Cz* + Dxy + Exz + Fyz + Gx + Hy+Iz+] =0 is equation and we add extra value to J
for example let L

Ax 4+ By + Cz* 4+ Dxy + Exz + Fyz + Gx + Hy + Iz + [ + L =0 like this.
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As we increase L the equation starts to take the shape of an Elliptic Cone, and as we increase it further, this equation takes the
shape of a Hyperboloid of one sheet.

When J+L is more than K equation will form Hyperboloid of one sheet.

KE=—(xi+zi +yD)xg-x1+38 +zi-zi-y +di) +
(xp+wo +2p)(xp-x1 + ¥ + Zp-20-¥-di) —
di(xpx + ¥ + 22y Fxpx; + oW + 2020

2. Conclusion

The intention of this paper was, to give an equation which can plot Conics and Quadric Surfaces of any shape and orientation
using any two focal points and a distance.

First equation we made in this paper plots different type of Quadric Surfaces only using two point and distance. This equation
Sphere, Ellipsoid, Hyperboloid of two sheet, Line in different cases.

Also plots Hyperboloid of one sheet need to add extra constant. Only takes A(xp. %, Zp), A(x4.%.2;) and D Distance.

4 (ro— 2 =D+ 4y (0 — 1) = D) + 42 ((zp — )" = D) +
Bxy(xp—x )00 — W)+ 8xz(xp—x, (2 — 2) +8yz(p — )5 — 20 +
4x((xo—x)(xi +¥f +zf —x§— 3§ —23) + x,D* +x, D7) +
4y (v _}’ij{xi +.‘}’1: +zf —.ré _.‘}’é —zé:] +.‘}’DD: +J’1Dzj +
4z((zp — 2 )i + 9 +2f — x5 — ¥ —25) + 2D° +2,0%) +
(0 + 0 +20)(x0 +6 +20 — PP —xi—yf —zf) -
Dofxgt vy +zp — D+ xf+w +:20) —

I+l +z)(xg+35 +25 +D7 —xi -y —z{) =10

Second equation we made in this paper plots different type of conics only using two point and distance. This equation Circle,

Ellipse, Hyperbola, Line in different cases. Only takes A{x .. 2}, A(x4.%. 2, ) and D Distance.

4 ((xg— 2 =D+ 4w — ) - D+
8= x = y(xp— )0y — ) + 4x((xg — x)(xf +97 —x5 — ) + 2,07+ x, D) +
(v — ¥ )i+ 98 — x5 — ¥ + 3. D + 9 D) +
(x5 +y)(xi+ 98 =D —xf —9{) = D*(xg + 3¢ — DT+ x1 +9])
—(xi+y)xg g + DT —xi—y) =0

Third equation we made in this paper plots line in three dimensional system.
Only takes A(x . 3. 2Zp) and A{x 4. ¥y, 24 ).

-r:':_':.‘}’n - .‘}’1]: — (= - Zij::] +

Y= (xp—x ) —(5p — 2,08 +

z:{—{xn _-1'1]: - (% - }’1]:] +

Zexxy(xg—x )00 — W)+ 2xxxz{xg—x)(Zp — 2 ) + 2=y =z — ¥z — 2] +
2x(xp(On(y — ) + 2103 —2)) + 2,000 — W) + 2020 —2))) +
2y (v (xplxp — x1) + 2p(Zp — 2 )) + 3 (2 (xy —xg) + 24(z — 2000 +
2z(zy(xp(xp—x ) + 300 — M) F 5 (x —xpd + 3 — W) +
xo(@ypx 0y — ID{_}-‘E +zf N+yv@znz— W {xi + zf:]:] + zp(2xpx, 3 — zn'i-ri + _‘}’1:]:] =0

Forth equation we made in this paper plots Cylinder in three dimensional system.

Only takes A{xp. 3. 2}, A(xy,v.2;) and Radius .
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12(_(.5’[:- - .‘Fj.]z — (= — 21]2] +
FE(_(ID_ xljz —(zo - 21]2] +
2 (—(xp— %) — (o -y +
2exxy(xo—x )0 — M)t 2xx=z(xg—ay ) — )+ 2=y =2y — ) (Z —z) +
2x(xp( Op — M) + 2105 —2)) + 20000 — W) + 2p(z0 — )00 +
2y (v (xolxe — 20+ Zp(zp — 2 )) + W (2 (3 —xp) + 2,(z — 2000 +
2z(z(xp(xp—x ) + 3 o — W) F 25 (x(x —x) + 00 —¥) ) +
xo(2ypry vy — 2 (yi +280) + W Rz — yp(xf + 280 +
Zp(2xgxy27; — zD[xf + Jf'f]] + ((xo - -"'1]2 +(n - Jf'l]z + (z0 - 21]2]""2 =0

Fifth equation we made in this paper plots Elliptic Cone in three dimensional system.

Only takes A{xp. %, 2}, A(x .. 2, ) and dy.

4x?(lrg—x, )" —dd) + 4y (O — ) —di) +42%((zp — z)* —dD) +
Brxsy(xy—x )0 — W)+ 8sx=z(xy—xy )z, — 5 )+ 8=yl — )z —2,) +
dor((xp — 2 )0xf + ¥ +2f —x§ — 5 —25) +xpd +x,d]) +
y (v — ¥ )i+ 98 428 — x5 — ¥ —z3) + wdi + md)+
4z((zp — 2,)(xf + 97 + 21 — 2§ — y§ — 23) +zpdi + z,d]) -
(ri+zi+yf)g —xi+ys +25 —zi -yl +dD)+
(xg + 5 +25)(xg —x{ +y§ +z3 —zf —yf —di) -

df{xnx1+y[,yl +zpz; Fxpx o F55) =0
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